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3 Apgdety @ Jgobaboogol

@=90°+1
3) Ladggmbgreol 30LgB®oLgdel
201054300700 FaBHomby B3O TR0
C 33960l Istomgemy@o MN

A b
Jmbos gggomobiogol:
_ blatc)
MN = Gib+c

F=/(FAC= a, £BCD = ¢DCA= B. 2a+2f=180°~y.

©ad@ oo °) £BA
a+f =90° —%(l). pabgobogmo AAOC. a+f =

B

M
)7 :
A b

180 — @, (1) Hommemdal '(\)om;].\g\nnh\?OB;]?mm
180 — ¢ =90°=% go. @ = 90° +2.

N
\”A 3) Gowpab MN ILAC, adogmd AABC~AMBN.
MN BK

ﬂhaoahabm{mﬁ 2o3mdpobaty, c _ BH

H .C

hb;;nm"]ognb\}'onm, “md O. hobabygmo V(‘);]\?n@nb (3a5HO0, bogom HK =71

Sa
MN __ h-T r 2 b b a+c
:——-—:1—-——:1—— 25:1——-:1— =
h 22 atb+c  atbtc

Ne62

B

L3 ggorbaedo adgmgdamos bado
30lgjeGobo. gnggem

AB:BC:AC =p: q:1, 85306
SnaqB1Cy 2pql

Saapc | @r@+D@@FD




338go@gds: dobydGoliol mgobgdowsb asdmdmabsty agadgl:

B a1+a2=a
s
ay b

53 bobgdol s8mblbom dogomgdor a; = Fafé’

b
a, = f_‘:. sbommpog@ap, AABC-b b o ¢

b, B b c ba
3309©gd0lomgal gggdbgds: by = e
. be _. ¢tb _ca
b, = T O = Py Cy = i bsghom ggobol 3jmby Lsdzgabgmgdols

Bodmmdgdol Yggompgds Hmmos 08 3g@rgdel bsdkogmas Ygashiogdobs,
Godymas Bodobsg gl ggoby Srgds@gmdl. Bghsdsdolsw,

Sad B C; _ c1hy _ be SaA1BCy ac Sa44B.Cy ab
SaaBc cb (atb)(atc)  Spapc (a+b)(b+¢)’  Saamc (a+c)(b+e)’

SAA1BC SaaBc—(Sa4,B;ctSnaBC +SAABLCq)
18101 1 1 161/

SaaBc SpaBc

=1 (SAA131C SaA1BCy SAABlci) _
Sa4BC SaABC SaaBc
ab ac bc

=l om0 T @hee @ ,
Bmmemdol 35560860B36gmosbgdoms @s podsBGaggden Jogomgdon

SAAlBlcl ”_ 2abc _ 2pql
Saanc (atb)(atc)(b+c)  (p+g)(p+D(g+D)

Ne63

oy X >tol 3gmosbols 3gadommo

Ladggobgeol € Log@dolb 3Jmby
230%91e%g, 3590b

|a* — b?| = 2¢cx
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;Q»')C)dngabo asbgobognmm ABCK go AACK. n)\(\(rdb\hu(n CK bodapany,

CK2=a2—(—+x) 6))

k= -C-0" @

A K. .c P B (1) gommndsl podmgsgmon (2), Bogogmgdo:
a? = b - C+x)7 + C-xP=0=2a - b2 =) +ox+xt—QF +ox—x%

la® — b2 = 2cx

Ne64

D ABC bodggobgmol 3o6) ggobolb
3obgd®Gobol dmbsgggmol bopedy CB

) , 23060b 35pGIgEmgBol 3oR>4aaNARY b9
358momgmgda:
’ A 2bc sin ACZAB
l =
b—c

593 30390 hemspodol Bygbegesgee gy dgom, Gmd b>c.
£CAB = a, 35306 Spcap dgodmmpds ao3mgbaboan b ma I 306150005 g
sin 2CAD-l LsByogmgdom, b AABC-bs o AABD-U gpo@memdes xodnl baboor.

Sscap = 2blsin £CAD =blsin(<CAB + £BAD) = 2pLsin (a+> ) =

= %bl sin (90'J +g) spGamay Sacap = Saasc + Saapp =

1 . 1, . (1B0°—a
= ;bcsma +5cl sin (—————-

3 ) = %bcsina +%clsin (90“—%)

9.0 %bl sin (90" + %) = %bc sina + %cl sin (90° - %)
blsin (90° + le_) —clsin (90° — %) = besina

bl cos% —cl cos% = besina = lcos %(b —-c)=2 sin%cos%bc, Gopaob

badggmbgedo Cosg o Bgodmgds 0-ob Gogmo adbgl, >80fm3

2bc sin/'CZAB

b—c

| =
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Ne65 (b@ogdEel mgmmgdy)

A
D Lodggnbgmob a3g6mol bgdobdogmdo
Vavdogros, 853ab
D C AB?.DC+AC*-BD-AD*-BC=BC-DC-BD

338403900 A4 Fad@omopst BC 3mbsgggmdy mogndgem AE Ss@mmdo.
A domgdgmo 3 Ssdoggmbs badggnbmobsmgol:
AB? = BE® + AE? = (BD + DE)* + AE?,
AC? = CE?* + AE* = (CD — DE)* + AE?%;
AD? = DE* + AE?,

B C
D E 3o8mgmgsgnma AB? - DC + AC?- BD — AD? - BC.

AB? . DC + AC* - BD — AD? - BC =

= [(BD + DE)? + AE2IDC + [(CD — DE)? + AE?]BD — (DE? + AE*)BC =

= BD*DC + 2BD - DE - DC + (DE? + AE®)DC + CD?*BD — 2CD - DE - BD + (DE? +

+AE?)BD ~ (DE? + AEZ)BC = (DE? + AE®)(DC + BD — BC) + DC - BD? + BD - CD®

Gowppobog DC+BD ~BC =0, AB®-DC+AC? BD — AD? - BC =
=DC-BD*+BD - CD? = (BD + CD)CD - BD = BC - DC - BD

AB*-DC+AC*-BD — AD®-BC = BC - DC - BD.
Ne66 (3g6gesmbol mgmegds)
PO Yag3 3330 ABC bs83g0bgpol

330030l Fg8330mm FA8ag0L, 35Bob

BR-PC-QA = AR -BP-(CQ

/° ‘
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330 3030 AdFOHR OO BC 8mbagggmob JsGorgung@o AL. ARAL~ARBP,
BR _BP  BRAL _

9 == = — go.—— =1 (.
Ny Slogod Tp = L ¥ ArBP M
p AL AQ AQ-PC
A ~ — == g0 AL = ———.
AQL~ACQP, 530Hm3 oC oc 30 oC
A Q ¢ AL 3609gbgmmds asgomgamobfobme m
3T, 9 3 B_R__igp_c. = 1 =
L Gognmdsdo, dogoggom: ARBP-QC =

= BR-PC-QA=AR-BP-CQ

Ne67
FaLogd Ladggobywdo O 3gb@®0s. AB
0-%g aodsgomo 6gdabdogho aoread339m0
F@5g0, 3506 Bgdmbsbgmmo F@gfodob
@spoygbo sbg ddmomgmgds:

R2 =2(a*+ b2 +?)
3

o8 go3gde: LAOD omgboBbmm a-mo. Gowysh LAOB s £BOC 120°-b
Bomos, adofmd LBOF ©o 2COE Tgbadosdobow Gugnos
(60° — a)-bs s (60°+ a)-bo.
AAOD-ps6 a = Rsina, ABOF-Yo ¢ = R sin(60° — a), bmgorm
AOEC-W0 b =R(60°+a). go. a’+b?+c* =R sin? @ +
+R? 5in?(60° + &) + R? sin?(60° — @) Q.

. 2 _ _ l-cosla
oy gogomgsmolifobgdm, @Gmd sin“a = -

aofmagddboo (1) Gommdsbl, Bogomgdon

05

2
a?+b%+c?= %-[1 — cos 2a + 1 — cos(120° + 2a) + 1 — cos(120° — 2a)] =

2 2
R - o ~Rs_ DN _3p2
=3 (3 — cos 2a — 2 cos 120° cos 2a) = 5 (3 cos 2a + 2 cos 2a Z)—ZR .
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®Godegbody FogFodo
Ne68

A oy o&o Fhgfodol 3360@50L Fmmol
dsbdogmo  Gaoyligdol x>l smgdsggds,
85306

O C O .
B 00,%=AB* + (R +1r)?

5384030 AB 8bgdos, s30dm8 OA L AB. sbggg 0:B L AB. OAC s 04BC
dugaglo odmygmobs badygebspgdes, Hmdgmmnsngel sppomo oJ3b 399w

Bomemdsl: (0C + 0,02 = (AC + CB)? + (04 + 01B)? (ob. N28), Lows(y
0C+0,L=00,, 0A=R, 0.B=r, boywe AC + CB = AB ja.
00,% = AB* + (R +1)*

Ne69

3538 gdgmos AB ©osdghmo s BCK 3bgdo,
Gmdgmo oo FégFomol Jmdess, 85306

£LKAC = £BAC

R33GgoEgds Is@ams Fhgfotal 3gbG®e smaboBemn 0-vo. Bopyeb AK L BK
K 5 0C L BK, 3303 AK || OC . s85bmsb 04 = OC s
. g Bgbadsdolisge LACO = LOAC. KAC mo ACO
»‘\ Jogoxgotymoebop drgdsdy jaobygdoes, doBolspsdy

B 4KAC = LACO = £0AC = LBAC.
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Ne70-71-72

K §6g506330L Bgbgdob Fao@omos. o
KM L AB, 85%0b

s) LAKB =90°

5) 4B =2/R; R,

odFgeEgde: o) gobgubognme AKMB. £tKBM :@-, LMKB =¥.

qo. 2KBM = ZMKB. Gompsh KMB = 90°,
>do@md 2KBM = £MKB = 45°, shagmygogdom
AAMK-30 £MAK = £tMKA = 45°.

LAKB = 4MKA + ¢MKB = 90°.

2) gogegmmo AB Lsghon Fbgdol Is@omgany@o
DF dmbagggmo, §Gafodgdol Ygbgdol K FaoHomm by 3bogwos, AD L DF >

DF 1 BO, Gopgob DKO; wo O:KF 39GH0 oMo
Jambygdo sGosb, s30fmd £DKO, = L0,KF. yo.
ADKO,~A0,KF. dlpagbgbogeab 2odmAobo@ymdl,
el

0,K _ O,F _ Ry

ZE = 5‘13 = E Gowash AB Il DF, >d0&md

KM = AD = BF . 5geob gsdmdpobaty,

Ry _ Rp—MK
R, MK—R,
2 RytRy 1,01 2

. go. RyRy = RyMK = R;MK = RoRy

= MK(R, + Ry) = 2RR; = =

MK RRy YU R, R, KM

a) pogogmmomm  AD | 0,02 dogomgde ADO,0;
JoGamgmmy@sdl  AD = 0,0; = Ry +R;.

BD = (R, — Ry). AABD Bstimggmbos, 330l
AB? = AD? — BD? = (Ry + R))? — (R, — Ry)? =
AB = 2/R; R,




Ne73

D AB 8mbsgggmob bgdolidogdo €
Faddomolomgol spgdgmos bsdo
bobggodf@gfodo s pogmgdgmos CD
doémnmdo, 35806 psBHHobymo goagmols

a :
A e 5 Pohomda sbg aedmomngmmgds

s =2 . cp?
23§, 4

83830390y AO=0B=R ,C0,=0,B=R,, AC;=0,C =R,
D 2R = 2R, + 2R,

Ry+Ry=R (1)

R, =R—-R, )

€O =R-2R,, OD=R.

ACDO dstromggmbes, s80@md

A0, C O 0O, B
CD* = O0D* — C0* = R* — (R — 2R,)* = 4R;R — 4R, = 4R,(R — R,)

D2
o (2) Homemdst yogongsmmobfobgdm CD? = 4R4R,, CT = 2R4R; (3).

Spstge=3TR? = IR ~ZnR;? = In(R: = R” - Ry?) = 3 (R2 — (R,2 + R;?)) =

=2m(R: ~ (Re® + Ro® + 2Ry Ry) + 2R, Ry) = ~m(R? = (Ry + R;) + 2R,R,)

(1) dommdol gsngsmobfobgdom Sg,‘,%ﬁ‘—'-zl-rr(Rz - R*+ 2R1R2)=%n‘2R1R2

1__ cp? _ mep?
sbams g0 gogoogsmolfobom (3) Gommds wageg,:Eﬂ.' . = .

Ne74

€D @> MN Figfo6gdol msbsgggmol 4 s
B §3680mgdby godsgomo 335mg00s, 5Tk

CM || DN
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353G J0EIOS: FOYOEOO AB lLsgdom Jodws. ABND rmbggmbyeby Dgderbo-
Begemos FoOaF oo, >do@md 2ADN + 2£NBA = 180°.
shammmpoy®om, ABMC (')mhd';_]mh;];gr)lsmgnh
LABM + £MCA = 180°. go.

D

ZADN + £NBA + ¢ABM + £MCA = 360°. MBA
aodemogno gamby, >doymd LNBA + LABM = 180°.

M u\/“ 0 ZADN + ZMCA = 180°, 565 w0 {60l
Aglodgmoe gomaggamobsl JogspomdbGogen

dogdsmy gambggdol xsdo 180°%-0s. go. CM]||DN.

Ne75

F@gF0t0 Bobabgmoas mGo Bgdbgdo
‘“V F@gfodamns ©s 3smo Loghme dbgdoo
Y g bobmgtgm Bog@sTo, 35T0b >3
F@3F0t0b Gogoglo sby ysdmomngmmgds:

Rr
X=———"3
(VR ++1)

a3 goagde: gogogermn BC I 0,0,. 0,4 LAB, dgbodsdolop AABC-psb

AB =+BCZ-AC? =

JERIT R = 2T
obggn aogogmmmoe DE I 0,05
oo ygmbs AADE-psh

AD =~EDZ — AE? =
JRT0I—(R—-x)?=2VRx

Lasg * dgodg FagFodol
badogdgena Gopogloo.

aogogmma DF 1 0,04,
ADBF-s6 DB =VDF2—BF? = JOr +x)2 = (r —x)* = 2y/rx. AB =AD + DB, 564

WEr = 2WRE 4+ 29E = ﬁ:% . xz(ﬁit/‘)z
-

42



Ne76-77
FoaF0mgdol Ygbgdol K §godomdy

aogmgdaaos AB 833gm0, A-bg s B-by
353 gomos AL @s BD 3bgdgdo, 85T0b

>) 0141 0;B

3) AL || BD

oG goEgds: ) Fhgfoedol 3gbdAgdo Tggegdmma gémndskymms.

ABORK HoggaBoss, Gopysbsg B0, = K0, =R,
20,BK = £0,KB. sbsprmpogtise, AA0K
Gmmgatoes s L0,AK = £0,KA. ggtho joamytio
J90bgado Gomos, sB0@dm3 £0;KA = £0,KB, by
204K = £0,KA = £0,BK = £0,KB (1), sb%

omo (BO, ws A0;) Féhgob dgbody (BA) Fagom
3o@dggamolish domagdgmo Bogaxgstgmobsg
dgdsdy gaobggdo Gomos. go. R Ir ps 044 || 0,B.

1
3) Goppsb a s b Fagfodoel dbgdgdo stosk 0,B L b ws 014 L a.
4DBA = 90° — £0,8K . £BAL = 90° — £0;AK. (1) Bommdopsh aodmdmobatmy
40,BK = LAKO; go. £DBA = £BAL, 567 a o b-l AB FOgom papsgggmolbsl

domgdamo Jopsxgedigrobop dpgdsmy Janbggdo mmos. g.0. a s b
Jatogngangios ws AL If BD.

Ne78

aoamadagmod AAq s AB; osdylegdo,
3>Tob A1 B ool FOaFodgdolb gopsgggoob

A\/C\7B' € Fao@omby

©aBdg0agos: Ngaghome 4 Gabdama € FadGomash, Jopgdymo LACA,

90%-0l Bmmo ofbgds, GEps6 ogo A4, ©osdgB@l gy@mpbmds. sEamepon@am,
£ACBy = 90° 5fgsb pddmBmobaty, £4,CB; aalamogmos. go. 4By powol €
Vadoomby.
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Ne79
dmEgdgmos @ 336rol 3Jmby Fabogdo
Nn-gqobyeo, 3:T0b hobobgmo s Bg8mbobymo
@506 9d0Lomgol A
aZ

\__'_/ RZ___r2=_4__

8@ goagde: 0A=0B =R, boyoe 0K = 7. ABOA {emmgghpss OK

a
Lodommggos o Bgrensbog , obg AK= PY Jomagm@sl

2
mgo@gBel osboblop 0A%* -~ OK? = AK* = R*—r%= (—2—)

Y

. 2 _ 24
go. R T 73

N80

bygmeol Joéess 2a, 8530k

|
eI
|
- R A

Rl

POAGINEIeS: pogogrntw O 326BOYy aedogomme Vogy ON 1 AB. AOEB~AQO4 K,
(Gopoh mBogy Jodimgymbad ws LEOB Loghmem 3jgm)

001 __ 04K R-r 1T
0B EB R a
a(R—71)=Rr a=l_r;
1 _R-r 1 __1 1
a ~ Rr a T R
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Ne81-82

bobggedf@gfodol osdg@dio N Gmen
BoFomamss gagmgomn, dsBob

o) ®gomols LogMdggdl Im@ol sLgmo

0 podmgopgdygmgdos
lesbgogg =" ! 6sbgeay.
3) babyge®mfdggdol godmmdgdl dmeols
sligmo psBmyorgdgmgdss:
Sesbge=" S b,
2nR
o8 go3gde: ») lsbh.vﬁw: - = mR.
2R R
noomggmo dsGeds babyge@fagfocdol @osdyB@es o a6 Gowoqbo ;-ob

TR

» — 1 R
Hosmos. L page = 3 2m - ET

7 @smpgbmdol babgge@f@gfomobsmgol go - n+ l*ﬁab.\'{ﬁgv. =R = lGab.\?’ﬁ;‘-,V

2
nR
8) Seebgos™ 3

2R R
anommggmo JaoBsts bobgge@fmol osdgddos o 36y @oagoylbo ;—nh Bmgos.

1 _ R
BgLododobogp, S*Eah.V@. R (2 1 Gampgbmdol babgzs@fmobomgols
. __nR2 _nRz__nRz‘ _
200698 = Spebge M =53 M= - = T IN = Sgupgeint

39 Sesbge=1" S Gobge.
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N:83

a Lowowol dobgom gambgBo Robsbygmos Bgdbgoo
FhaF0Ggd0, 35T30b i Gowogbgon Jdbosh
29393 Mo 3BmyMdgbosl s

1+sins

r = s
k+1 l—sin% k

a8 go3gde: 0 sbgogmo a guobob §ig6ms, bome O go k-g60 §ogfotdol
3363 H0s. Faglodos 396QGgd0 a ggmbol dolgdd@obaby Ipdadgmdgh, >dodmd
1. = 00y sin% (1), Fgbsdodobop, Tey = (00) + 1y + Tieqq) Sin %.
gebbomgdol poblbobs s (1) Gomedol pomgamobfobydeb gmgaoe

Thes 1+sin%

o o
Joqomadon T, = Iy + 1 sin=+ 1, sin= = =
3ORJ k k k 2 k+1 5 - 1—sin5'25

g0. Fagiodol Gopoygbgdo J360sh gamdgddonm IGmyGgbost, Gedmol

1+sing 1+sin%
8bonbgmo § = 5% wo T = s T
dbodgbgreo g 1_Sm% o Tt 1-sin52’— k
N84

Bmgdgmos Lado babgge®f@gfodo s
gemo hsbsbymo FdgFodo, dsTob

R =3r
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©3Bgogds KO L AC, A0O 0, dstionggmbes. Jomspm@sl mgm@giels osbobiae
(0K — 0,K)? + (00,)% = (0,05)?, oo 00, = g

R
010, =5+71 @5 OK-O,K=R~7

R2 2
—_—r Y = ==
®=r7+g =(5+7)
2 2
R* —2Rr+r%+ %—=%—+r2+rR

R2=3rR = R=3r

N85

dm3gdgmos §@3Fomgdol pody Jgbgds.

M @s N Bgbgdal §90Homgdby pogamgdnma
Jmaegdol FgeFatGomgdo s@osb, 35Tob

4Rr

MN=r37

3B goEgos: asgogmmmm O,E || CD dmbsygamo. dodm gambs AQREOD,-@sbh

: _0D-DE _ R—-r
sin £ 0,0,F = W = R¥r

aobgobognmm omagdips ABO,C. thopysh N séolb
BC-b Fyof g oo, s808md O,N L BC.
sbogmmpog@op, O1M LAD. g0. BC || AD.

0,C 1 0.D, 580@md £CON = £DOM = o
20DM =90° —a = £0,CN = £0,0,E,

0,M = 0,Dsin £ 0,DM = 0,D sin £ 0,0,E.
sbsgompog@om, 0N = 0, sin £ 0,0,E.

MN =7 +R=0.M+0,N =7r+R —0;DSiNZ 0,0,E + 0, sin £ 0,0, =

2

2 2
_ e Y = _(R—m — (R+1)"—(R-1) 4RT
=r+R-SINL0,0,ER-1)=R+7—"p= Tir Bir
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Ne86

AD 560l (04; 1)) > ( 02;72) FH9Fo@ 330l
Loghorm 3bgdo, 35Tab

A [T

AB =4r3—FT-—
T3 rq+72

B

o88g0agds: aogogmmn O3E L 0105, 03F L AB > Bggogtono 03 3g6p%0 A
Fah@ommab. 3bowos, Gmd AD L 010;, AB = 2AF =

=2 /,4()32 — F03% = 2.J132 — x2, bopog x = 03F =

= DE. pobgobommmor A1 03E s AD03E, Godgmasy
Loghmer O3E gomgdo ofgm.
(03E)? = (0;05)% = (0:E)* = (0205)* — (0:E)* =

5 (+n)?—Mm+x)?=(n+ r)t—(rp—x)?% =

5 M+ —(p—x)? =03t )% = (1 +13)%
poydommo domgdymo BOmmds Jad@ad goob

Lbgomdogw, dogomgdon
(ry + 1)y — 1o+ 2x) = (g + 12+ 213) (1 — 725

2=l 4 2x(ry + 1) =1 -t 4+ 2 =)

r1=12

2x(ry +715) = 21300y — 1), x =713
(r 2) 3 (11 2) 3 S

2 2 2
2 rmra)” 2 32 (ry 1) =13ty =ra)”
(ry+rg)° (ry+3)°

BC= 2 7'32 —x2 = 2\[7'32 - T3

2 2
=2 (ryt+ry) =(—m2)" _ J12
= 7‘3 . 5 o 4r3 .
(Tl"i'rz) 1 +T2
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NeB7

dmb3abdGm §@aFodgdBo 2a bLog®idol Jméms
abgds 3oty FoaFodl, 35B06 Foogme @Gamamol
Bodomdo sbg asfmongagds:

2

SV“"“WB: na

3@ go3gde: pogogmmn O0A = 0B =R, 0K =r 3mbsgggomgdo.
3omdam@sl mgm@gdel msbsbdsm ABOK-To,

Ao K D\, OFOKI=KE = Ri-rieal
& ® Spasg= R = n(R* ) =

Ne88
M CA s CB 3bgdosmgol CA = CB
A B
C
AN
539 go3gds: yogogmmm AM ms AN dmbsgggmgde. LCAN = 5, LAMN

2

bobsbgma gambgs s sliggy %1!-01) Houmos. g.o.
M LCAN = LAMN. AANC~AAMC (Goppsb £ACM
@ Log@hmms, bome LCAN = £AMN). go. % = %
AC?=MC-NC. Shogmmp 0y, BC? = MC-NC. 30
A B cA=CB
C
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F@gF oo

Ne89
¢ A
AD ps BC §6gfocab QB 00JGNSRSTI3Io0
N M dooRgd0s, 35306
b AMB + CND
LAKB =

B 2

3B oI Pogogreme DB Jods. 2CKD m> 2AKB séob DKB Lodggobaeol
av®g gaombggdo. badggobymols 336y gooby dobo

sGAmbobrghg 0Go Jogs ggobob xsdol Gogros. go.

LAKB = LCKD = £D+£B. D s B bobsbgmo

M Joobggdol géaegbagme bodgdo Bgbodoedolose AMB

s CND égomgdol a@spgbyme Bedgdol bobggdols

Bemos, o6y LAKB = LCKD = ﬂB_;Q_VQ‘
NS0

Fégfomol aotgo Srgdsty K Fa6 Gogmopsb
© 2o3madamos Fégfoctol KCrs KD
33300g%0, 35T0b

CND- AMB

LK = 5
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Temur Khutsishvili  Irakli Vekua Giorgi Kvinikadze

150 THEOREMS AND
FORMULAE FOR SOLVING
COMPETITIVE PLANIMETRY
PROBLEMS

There are 150 theorems and formulae in this textbook.
They will help you in solving complex (olympic and
exam) planimetry problems. Theorems do not give
verbal information completely, but graphics will help
you understand them easily.
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